AU A yal)

s agle and

@) Jalaill g Aaa ) il

: gl ) )5

Exponential Functions: 4% Ji s .1

Example

Function in
MATLAB form

Operation

>> exp(0)
ans =
1

exp(x)

A A1l

>>log(1)
ans =
0

log(x)

>> |0g10(2)
ans =
0.3010

log10(x)

100 i sl 1l Al

>> l0g2(2)
ans =
1

log2(x)

2l e 51l Al

>> pow2(3)
ans =
8

pow2(X)

2 5 8 I a1 Al

>> sqrt(4)
ans =
2

sqrt(x)

>>power(3,3)
ans =
27

power(X,Y)

X oAU gl Al

Trigonometric Functions: 4tia) J) sal.2

Jia

@AUJ,\ gﬁ B
MATLAB

4 ALY Al

>> sin(5)
ans =
-0.9589

sin(angle)

sin Al

>> c0s(b)
ans =
0.2837

cos(angle)

cos allall

>> tan(5)
ans =
-3.3805

tan(angle)

tan 4l

>> sec(5)
ans =
3.5253

sec(angle)

1/cos Al

>> csc(b)
ans =

csc(angle)

1/sin 4l

17
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-1.0428
>> cot(5)
ans = cot(angle) 1/tan i)
-0.2958
>> asin(b)
ans = asin(angle) sin Al (u Saa
1.5708 - 2.2924i
>> acos(b)

ans = acos(angle) coS WAl L Saa
0 + 2.2924i
>> atan(5)
ans = atan(angle) tan Alall ( sSaa
1.3734

>> asec(5)
ans = asec(angle) sec Al o sSaa
1.3694

>> acsc(5)
ans = acsc(angle) cSC Al e S
0.2014

>> acot(5)
ans = acot(angle) cot Alall (s ¢Saa
0.1974

Jisni = 25« Radian degree ) sl dulie o2le ) AN J)sall aren -3 A3adla*
;b SO ellh Ky 43l degrees s Al AN padl)
sind JEL sin Al ciSs e Ay ) J8 d < all ALl -; AgY)
D Sl JUall 8 LS (pif180) el Adlal) 2k S 4y ) 3l oy - 1A
>> sind(30)
ans =
0.5000
OR
>> sin(30*(pi/180))
ans =
0.5000
Dlaaally dllal) aaws (J8 4y 5) 5l s (g flall pasill ) Sl all 5008 e Ay ) 3 Jysail
s Sl Jhall 8 LS (180/pi)
>> sin(30)
ans =
-0.9880
OR
>> sind(30*(180/pi))
ans =

18
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-0.9880
- oall) G a1 2a) aladinlys MATLAB  geebise o8 35l 31 gt oy -¢ 440N 48, jhal
Gl I (radians ) 4kl caai 450 50 dysail e 1 aadiy -2 rad2deg -1
. (degrees)
Example:-
There are 180° in n radians :
>>anglout=rad2deg(pi)
anglout=
180
Cauai aladll I ((degrees ) Sl oall e 4l dasadl 5a¥) 1 aadien -2 deg2rad -2
. (radians ) ¢ _kdl
Example:-
Show that there are 2 radians in full circle :
>>2*pi — deg2rad(360)
ans=

Routing & Remainder functions : 4@l g ysaill Jlga o

1-fix :- Round toward zero

Ex:-
>>3=[-19,-0.2,34,56,7.0,24+3.6i]
a=

Columns 1 through 4

-1.9000 -0.2000 3.4000 5.6000

Columns 5 through 6

7.0000 2.4000 + 3.6000i

>>fix(a)
ans =
Columns 1 through 4
-1.0000 0 3.0000 5.0000

Columns 5 through 6
7.0 2.0000 + 3.0000i

2-round :- Round to nearest integer
L a2 8 A cy sl Al
Ex:-

>>3 =[-1.9,-0.2,3.4,5.6, 7.0, 2.4+3.6i]
a=
19
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Columns 1 through 4

-1.9000 -0.2000 3.4000 5.6000
Columns 5 through 6
7.0000 2.4000 + 3.6000i
>>round(a)
ans =
Columns 1 through 4
-2.0000 0 3.0000 6.0000
Columns 5 through 6
7.0000 2.0000 + 4.0000i

3- floor :- Round toward negative infinity
bl sa oy R A (200 ) Al AlgsD) alaily oy il Al

Ex:-
>>3 =[-1.9,-0.2,3.4,5.6, 7.0, 2.4+3.6i]
a=
Columns 1 through 4
-1.9000 -0.2000 3.4000 5.6000
Columns 5 through 6
7.0000 2.4000 + 3.6000i
>>floor(a)
ans =
Columns 1 through 4
-2.0000 -1.0000 3.0000 5.0000
Columns 5 through 6
7.0000 2.0000 + 3.0000i

4- ceil :- Round toward positive infinity
- Otel) s G Sl Alls (o0 ) A gl LB alaily g sl Al

Ex:-
>>a=[-19,-02,34,56,7,24+3.6i]
a=
Columns 1 through 4
-1.9000 -0.2000 3.4000 5.6000
Columns 5 through 6
7.0000 2.4000 + 3.6000i
>>ceil(a)
ans =
Columns 1 through 4
-1.0000 0 4.0000 6.0000

20




AU A jal) ) agle and ) Julail g daa pll ida

Columns 5 through 6
7.0000 3.0000 + 4.0000i

5- rem :- Remainder after division
Al (e (SLI Al

R =rem(X,Y) ifY ~=0, returns X —(n.*Y) where n=fix(X./Y)
Ex:-
>>rem(8,5)
ans =

3
>>rem(8,8)
ans =

0
>>rem(8,10)
ans =

8
>>rem(-1,20)
ans =

-1

6- mod :- Modulus after division
sl ya L) Al

M = mod(X,Y) if Y ~¥=0, returns X-( n.*Y) where n =floor(X./Y)
Ex:-

>>mod(13,5)
ans =

3
>>mod([1:5],3)
ans =

1 2 0 1 2
>>mod(magic(3),3)
ans =

2 1 0

0O 2 1

1 0 2

Note:- magic(n) returns an n-by-n matrix constructed from the integers 1
through n*2 with equal row and column sums .
>>magic(3)
ans =
21
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AU s yal)
8 1 6
3 5 7
4 9 2
Notes:-

e rem(X,Y) for X~=Y and Y~=0 has the same sign as X.

e mod(X,Y) for X~=Y and Y~=0 has the same sign as Y.

e rem(X,Y) and mod(X,Y) are equal if X and Y have the same sign, but
differ by Y if X and Y have different signs.

Ex:-
>>rem(-5,2)
ans=

-1
>>mod(-5,2)
ans=

1

7-sign :- Signum function

Ex:-
>> sign(0)
ans =

0
>> sign(-9)
ans =

-1
>> sign(0.1)
ans =

1

-1 LY Ala

1A b g il (e o S) Jpall QB0 S 1)
S AN il ial) ey sal Japall S0 S 1)
0 Al ol b iaall ) (5 sbosa Jspall W30 (S 13)

22
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Complex Numbers: ((4gial) ) 4 yall 3lacy)

Jae M e 3 s Real Numbers 4iiall slac 3 e ja 2al 55 4 g8aa) 5 daa 48 4l dlac ) 34l
AUl dalall 3 suall e ) S35 Imaginary Numbers 4l

Z=X+Y*i
Jie 48 yall dlae Y e clilaall (e aa=ll o) s e MATLAB By Jazs
(X)) S 33a) (e adall o 5 dad) 1
(Y Sl 23l e sl ¢ all slayl 2
;A A (Ll 5 Leale: J gama iy sl Aysly Sl 3
Imaginary part )

angle =tan~!
& ( Real part

Al 483l B (e Lgle J seaall a5 Absolute Value 4dllaall 4eill syl 4
Absolute Value =/ x? +y 2

7 S el aal e IR0 3y L LS il Sl llenll a3gn a5 3 ) sal) il (S
>> 7=2+4j|

7=
2.0000 + 4.0000i
: Function in
Example Operation MATLAB form
>> real(z) e aiall ¢l alagyY aadiud
ans = Z S yall 22l real(z)
2
>>imag(z) o (Suall el gy andi
ans = Z S pall 23]l imag(2)
4
>> abs(z) 22all dllaal) dagll Aoy adding
ans = Z Sl abs(z)
44721
>> angle(2) phase _shll 4l ) Ay aadius
ans = 5,00 7 Sall 2=l gngle
1.1071 radian ol
>> angle(2) angle(z)
ans =
1.1071

< degree ) radian e el Gy gt sy Slajally ) hall 4y ) ) A Gl ;- AdaaBla
. 180/pi el g ) 3 dad

23
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- b L A YMATLAB . daly zeli yy (i€l / QUi
SR PN |
C Sl el 2
- S el aaal) Aallaal) Al 3
Coskhlldsly 4
C=5 V-9 +13 - Ul S all aaall

Ex:-Write MATLAB program to calculate the following:-
1-Real part

2-Imaging part

3-Absolute Value

4-Angle phase for complex number

C=5+v-9+ 13

Sol.
>>C=5*sqrt(-9) + 13
C=

13.000 + 15.000 i
>>real (C)

ans =

13

>>imag (C)

ans =

15

>>angle (C)

ans =

0.8567

>>angle (C) * 180/ pi
ans =

49.0856

OR

>> rad2deg (angle (C))
ans =

49.0856

>>abs (C)

ans =

19.8494
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MATLAB gtin Azl AY g JBA sal )
Input I/P & Output O/P Commands
: input JAY) el )
Leaand s b ya ol Aoae iy JA) b€ 430 e aadiel] dpeai Al input oY) gaas

s ol ) eall saal e input B PRENRY .ejil.ml\ 48y e
dgase Gl JW) 2 Y

X=input(‘displayed strings')

oo il aadiiall lp jo ol Al Al Jiad lalSll (0 Ao gaaa 4 :Displayed strings
Adad Jal a3 i) s X ¢ Ll axdiial o st Al Al

>> x=input(‘’x=");

DY) G jdsall iy
JB e X Aad JBa) (sl
EPRCGIA|

X=
X =5
ol ppriall il Juaadl dalud) 46 5kl e Lage oda JIAaY) 5 e axdiud sidaadle
Cagus pilaal) JAOY) 43yl (el yoll 25 JS i sUanall 2lly Saill MATLAB el
Al ad elac ) Sy s28 JAOYI 4Gy Hha aladialy (K15 s oSy Y A0 G Laas

35 yad A 50 s Jaaal) waddl o)) e Jail dpai Al (oae 530 all day JAaY -t
>> T=input('Enter the temperature’)
Enter the temperature
12 Sl 550 paldl da o Jia o T dad JAal ad o3lef dlaall ) gda aay
T =
12
g Ja il JB LG

X=input("displayed strings','s")
438 gall 5_SIAN (e Jatiasall (g 338l 3L apaad 8 UL & 5 20aa3 by 5 (String) delSU e
Zeebiall A8 5l 5 ,SIA laal ane e aeluy Las el yll

(6 ) (ally e s 51yl Ao o e o A Alas 5 im e 3 5 e
>> T=input(‘enter the measure of temperature ','s")
enter the measure of temperature
Celsius ¢ wlual) (ulbidall (S35 (ulidall JAal a8 o3le ) dlaall ) geda 2oy
T=
Celsius
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disp/display/fprintf _: z1 ,AY) sl
)A\j‘)_” ‘)‘)MEJSM&M\ Q\M\ j\ L"_a\‘).\’:mj‘ cuu\}(.\.\gua‘)ﬂc\‘)a‘)f\ )A\j\ e.liluﬁ
. Command window
daal gl dore Gl o) g Jadd juaiall Aad e A disp kY a2 s disp Y 1
O seall g3l e el 18 2t o

disp(x)

disp('displayed strings’)

Cira (i Giapad (SN e aodiing Laiy X aiall 4a (a jal Jo¥1 eV aadien Cus
. single quotation marks (L3l Jidle g allaal

4aac daf (ajal ;U
>> x=100;
>> disp(x)
100
OR 8lae priall aud S )
>> X
X =
100
OR (i al (a jal
>> disp(’ the value of x is ")
the value of x is
- ) IS L il il g Aaaall dagil) a5 (S
disp(['messege’,num2str(variable)])
) Al Aadll b a3 ) numerical to string 25 s num2str Al aaail Eus
(il il ) Al 5 ey Byl Al sl | 8 addind ¢ A ya Jusdlas
>> disp(['the value of x is ',num2str(x)])
the value of x is 100

Apad ) IS o) un ale 3 paaall ol (i je B display <Y aadius @ display ¥ .2
‘@&&\BJM‘&Q(‘;M.“ “‘56:\7};43}\
display(x)
~4d5 « command window 33U e aid 2 X juriell anl (apal 0¥ 138 a0diiny Cua
p ol bl Baa ) AN el oY Gl (3 ) gucall (s eaal 511 (54l

>> X=5;
>> disp(x) %display only variable value
5
>> display(x) %display variable name and value
X =
5
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il e A3y yha 8 @Al el (1 a8 (e 4 5Se s pualic aaea (All) Baa 6l 48 gdiae/Jlie
>> disp(ones(3))

1 1 1

1 1 1

1 1 1
>> display(ones(3))
ans =

1 1 1

1 1 1

1 1 1

Aa3lll 48 shnall yalic ad (4 ymy zali ) 18 disp(ones(3)) swY! padiul Lexie 4) L
ans () Y il sl (i e zeli ) 8 display(ones(3)) ! pasiul Ladie Wl ¢ Laas
bl o 58y 25 0Nnes(3) oo Aadlill 48 hiaall (5 jAdl Gaze jaxie Gy a5y ol aaiiidl (GY)
-:fprintf_(File Print Format) ¥ .3
Al 4l A f s yalle command window 338U e c.al.ul\ dcbib il pa) 12a PRENA
Jeudt S SUlal) el danlid) g ,hll sl BWSa ¢us format  Geetill (e fprintf
el
fprinf(‘text’) AW Loall i eVl b oai juaidelbla s A o
: JBe

>> fprintf(‘the amount of precipitation is')
the amount of precipitation is
=2 Adal Al S ¥ Gl el dad g el pad Aol Alls A L) o
fprintf(‘format string’, list of variable)
- osdall 40011 4l g variable Ll ¢ ULl 5ot Ua format 4elSy i
s Al Aapall padius format Gawilll g 53l
fprinf(‘text % -3.1g',variable)
e Lida 3l el il Jiay text
25 LS IRl Gl Uin ol 138 o Adaadle g ¢ o8 GBansll i Ay Ji %
Alaall oda b diclida o) 5y ysiia JS) S () am Lail 5 Wiglas dapin
Ll Jsanll 8 e s LaS ¢ e Al Gauily Sl (e liSai s LIV -

.~,”

il il |
i @t oY MATLAB

_in ) BB\

) bl sai3l3las
%-4g for 1 results in 1xxx
%-5.2f se s bl o S aaxll ) e |-

>>fprintf('%-5.2f',9)

9.00 >> U o (530 1l & sSms 231 (e

X ek
>> fprintf('%+5.2f',9) . .y "
+9.00>> 00+5.2f - o) 4 S o) g 20wl 3 LS auday | '+
>> fprintf('% 5.2f',9) | % 5.2f aalldebh JA g a5 |t
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9.00>>
M lo {]
o 5'822”( %05.21.9) | 9405 ¢ el il o Y sl oy | 10"
el (Ko e JBl Jlag 5 Jiall g e iy 3
oWl ae il el dae Jiag A
L ) Jsanll b LS 280 dia pnl i i) Al ) dageall Jias g
>>3=5.5; / i — Sl
>> fprintf('%d',a) X 5 NS sl
5.500000e+000 I e 2u - &2 g
OR PRI or
5.000000>> fprintf(‘%d',5) O 1B gmee oS ks | o
c [ENENVH
>> fprintf('%e’,a) s aladinly 4l drpa Yo
5.500000e+000 e 5 ysuall (i Yl 0
>> fprintf('%E',a) s ahadul 4wl dpa 9%E
5.500000E+000 E 3 ,uSl) CajaY) 0
M IO 1
;Eggggéf( Y%f',a) (6ol ) isial 3aa)) i 06f
>> fprintf('%g',a) ¢ baidl jSle 5 f Gw daa o
5.5 230aS dmilad b LS aaall gl O°F%
>> fpl‘intf('%G',a) U9 (e 95).».'1:9 e J\ o %G
5.5 G AU Gl |70
>>n='MATLAB"
>> fprintf('%s \n',n) Agys Alude glay | %08
MATLAB
s Jle

>> fprintf(‘the amount of precipitation is %g',0.6)

the amount of precipitation is 0.6

O) Al 0 Aadlall Ui 5 5 the amount of precipitation is aill juaill dc bk o3
O A IS (68 ) e g e L Aliadal) g LAY addiin 8 gu (g3 20a) drpa sl aadS

28

Al dad e Yy Az g g e o




A U yal)

s agle and

@) Jalaill g Aaa ) il

- Sl Jsaadl 8 LS fprintf eV g s jaall Gausil 4000 faall alading o

il il MATLAB dapay Y Al ll | dxuall
fprintf(‘hello’)
fprintf("\n") i Caas
Eigo Eerintf('bye') e )Jm \n
>> fprintf('hello \n bye")
fprintf(‘hello’)
fprintf(\t") Al & iy
hello bye fprintf(‘bye’) 4 e 4 \
or Tab
>> fprintf(‘hello \t bye")
fprintf(‘hello’)
fprintf('\\)
hello\bye fprintf('bye’) \ JSall ol \
or
>> fprintf('hello \\ bye")
fprintf(‘hello’)
fprintf('\%") 0
Hello%bye forintf(bye) % JSa) pabay \%
>> fprintf('hello \% bye")
—: gl lgdal A8y jha A Adlidal) ALiaY) any o
Program Results
clc the format for d
a=[12 55.5 43]; 12 5.550000e+001 43
fprintf(‘the format for d')
fprintf('\n")
fprintf('%d \t',a)
clc the format for 2.2d
a=[12 55.5 437]; 12 5.55e+001 43
fprintf(‘the format for 2.2d")
fprintf('\n")
fprintf('%2.2d \t',a)
clc the format for e
a=[12 55.5 43]; 1.200000e+001  5.550000e+001
fprintf('the format for e') 4.300000e+001
fprintf(\n")
fprintf('%e \t',a)
clc the format for 2.2e
a=[12 55.5 437; 1.20e+001 5.55e+001 4.30e+001
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fprintf(‘the format for 2.2¢")
fprintf('\n")
fprintf('%2.2e \t',a)

clc
a=[12 55.5 43];
fprintf(‘the format for f')

the format for f
12.000000 55.500000 43.000000

fprintf(‘the format for 2.2f")
fprintf('\n")
fprintf('%2.2f \t',a)

fprintf(\n")

fprintf('%f \t',a)

clc the format for 2.2f
a=[12 55.5 43]; 12.00 55.50 43.00

clc
a=[12 55.5 437];
fprintf(‘the format for g')

12

the format for g

55.5 43

fprintf('\n")
fprintf('%g \t',a)
clc the format for 2.2g
a=[12 55.5 437]; 12 56 43
fprintf(‘the format for 2.2g') Zanaa 2o o BY il o
fprintf('\n")
fprintf('%2.2g \t',a)
- 3.)311\\ @A\ng -:\35:\3 @L\' KER
command Results
fprintf('%d %f %g | 5.500000e+000 5.500000 5.5

%2.2e\t',5.5,5.5,5.5,5.5)

5.500000e+000

x=97.5;
fprintf('it "works"%g %%of the time\n',x)

it 'works'97.5 %of the time

x1=10;

X2=2;

X3=x1-x2;

fprintf('Difference of %g and %g is %g
\n',[x1 x2 x3])

Difference of 10 and 2 is 8

matrix=[1 2 3;4 5 6,7 8 9];
fprintf(‘'+---+---+---+\n");

FPrntf(| %g | %g | %g [t-wmteemtom-
+\n',matrix’);

S R S S
|1]2]3]
S R S S
|4]5]6]
S S S S
| 718]9]
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-2 fprintf ¥ aladialy clibad) Biad cila ) cla il dslih o

2 () g ey Lagd oeledind (Say Cale LG aali ) Sl jae Jadad fprintf eY) aodiuy
- Sl JSAIL CESS peBU dalad) drpall ¢ (5 AT B e el )
fprintf (' filename' , ' format string ', list of variables )

e.g.
fprintf (" myfile','%g "', x)

.myfile 4eu) il A X Al Ju

Ex:-

>>x=0:0.1:1;

>>A=[x ; exp(X)];

>> filelD=fopen(‘exp.txt','w");

>> fprintf(filelD,'%6s%12s\n",'X','exp(X)");
>> fprintf(filelD,'%6.21%12.8f\n",A);

>> fclose(filelD);

>> type exp.txt

X exp(x)
0.00 1.00000000
0.10 1.10517092
0.20 1.22140276
0.30 1.34985881
0.40 1.49182470
0.50 1.64872127
0.60 1.82211880
0.70 2.01375271
0.80 2.22554093
0.90 2.45960311
1.00 2.71828183
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